N = 0l & At & M A

20199 &= =0 & LS &F

SN MER N
HE: HUHS K
Sl HAS U HAHB KA CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
e F 33,440,293 32,885,292 555,001
= 28,751,206
Al 3,213,629
- 1,475,458
FHANS XA 3,121,047 3,603,258 A482,211
= 1,787,950
Al 990,027
- 343,070
HAs 2 HAAHS XA 1,556,118 2,120,327 A 564,209
= 724,040
Al 698,388
- 133,690
SHE XEFE SSMHA XA 142,800 142,800 0
= 99,960
Al 21,420
- 21,420
201 et 71,400 71,400 0
= 49,980
Al 10,710
- 10,710
01 At 22l 71,400 71,400 0
Os AMdl&eAgy =& 23| 71,400
= 49,980
Al 10,710
T 10,710
307 glz2tol & 71,400 71,400 0
= 49,980
Al 10,710
T 10,710
01 22272l 71,400 71,400 0
OS Atcl2relAred ha X X &l 71,400
= 49,980
Al 10,710
- 10,710
AT S Atel el X 15,000 15,000 0
= 7,500
Al 3,750
- 3,750
201 Let24d| 6,000 6,500 A 500
= 3,000
Al 1,500
- 1,500
01 At 22l 6,000 6,500 A 500
OAtdll 22l At =& 23] 6,000
= 3,000
Al 1,500
T 1,500
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SN MER N
HE: HUHS K
Sl HAS U HAHB KA CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
202 Od4dl 1,500 1,000 500
= 750
Al 375
- 375
01 = LH 4 Hi 1,500 1,000 500
OS&EAtdfl 22l At 2ot 1,500
= 750
Al 375
- 375
307 21201 A 7,500 7,500 0
= 3,750
Al 1,875
T 1,875
01 92724l 7,500 7,500 0
OAtell 2t 2l At CHAN X X3 bl 7,500
= 3,750
Al 1,875
T 1,875
==X 703,000 686,048 16,952
= 562,400
Al 70,300
- 70,300
307 gl2tol & 703,000 686,048 16,952
= 562,400
Al 70,300
- 70,300
01 222l 703,000 686,048 16,952
OFAF=2—PN 703,000
= 562,400
Al 70,300
- 70,300
2aE J=E2EME A 360,750 570,347 A 209,597
Al 360,750
301 et A= 360,750 570,347 A 209,597
Al 360,750
01 MEIBEE 2053 360,750 570,347 A 209,597
OR&d J=EZHE M= 288,600
Al 288,600
OR4E JIZEHZNE 220 72,150
Al 72,150
HAS=0 HBEEz & 13,000 18,000 5,000
301 et d s 13,000 18,000 A5,000
01 MEIEZE 406z 13,000 18,000 A5,000
ONMAS=0 HALEBHS XA 13,000
Tarel s 17,000 17,000 0
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PN HESZTY
Bu: Fo)E N
el HAS U HOUHE NAY (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
Al 17,000
301 LEtE A= 17,000 17,000 0
Al 17,000
01 MEI2EZE 405z 17,000 17,000 0
OXtael s 17,000
Al 17,000
THarel XHEH Sl 5,168 5,168 0
Al 5,168
301 et a = 5,168 5,168 0
Al 5,168
01 MEIBEE 2063 5,168 5,168 0
OXtat 2l At n Sl 5,168
Al 5,168
==& S| 20,000 20,000 0
Al 20,000
301 e A3 20,000 20,000 0
Al 20,000
01 Ml28HE+06l= 20,000 20,000 0
O==x sUHH 20,000
Al 20,000
== A A SHl 200,000 200,000 0
Al 200,000
301 LtE L= 200,000 200,000 0
Al 200,000
01 MEIEBEZE+06l= 200,000 200,000 0
O==2 X A4 n Sl 200,000
Al 200,000
ROtIt= SEXMEIA FEXA 61,400 295,900 A 234,500
= 36,180
T 25,220
201 Let24E] 2,000 0 2,000
02 2324l 2,000 0 2,000
Os #O0ot=e SXNAMEIA g 23|
1,000,000 «2J4 = 2,000
405 RHoHE S HI 59,400 295,900 A 236,500
= 36,180
T 23,220
01 AL EFSFHSHI 59,400 295,900 A 236,500
Os #0tote SXNAMEIA g Fdl 59,400
= 36,180
- 23,220
ISR 20 XN (2ER) 18,000 0 18,000
= 18,000
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SN MER N
HE: HUHS K
Sl HAS U HAHB KA CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
405 XHA&HF S HI 18,000 0 18,000
= 18,000
01 AL 2 ZF S| 18,000 0 18,000
O &0t X dMIXNSK 2L 18,000
= 18,000
FO=EX MUA S 1,564,929 1,482,931 81,998
= 1,063,910
Al 291,639
- 209,380
KAAS MHIASE A (KIS HESH ) 1,278,571 1,278,000 571
= 895,000
Al 255,714
- 127,857
308 XNXIGHSO0l& 1,278,571 1,278,000 571
= 895,000
Al 255,714
- 127,857
10 2| 2SHUSHE A XERAEASH] 1,278,571 1,278,000 571
OXNYGASMEIA EXAIS (KIS ESH) 1,278,571
= 895,000
Al 255,714
- 127,857
IAIZIE S 2 X & AL 233,100 180,431 52,669
= 163,170
Al 34,965
- 34,965
308 XX SHHSOIH 233,100 180,431 52,669
= 163,170
Al 34,965
- 34,965
10 B 2SUHUSHEAEAE AN Y| 233,100 180,431 52,669
OJIAIZH Y B2 X & ALY 233,100
= 163,170
Al 34,965
- 34,965
KNAAS MBI AETAY 29 (X) 3,200 3,200 0
= 2,240
Al 960
201 LBt 3,200 3,200 0
= 2,240
Al 960
01 AP 22| d| 3,200 3,200 0
OXNIGAMEMEIAEXAIY 2L (XH) 3,200
= 2,240
Al 960
S|ASXASALFA 5,408 3,800 1,608
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SN MER N
HE: HUNS K
ol FOUSI MEIA SA (SH9: &)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol &F o4 ﬁ}lgﬁ HRE2
09 HAIAHI EAZ 3,000 3,000 0
O NYABEEEEAM H&X HIX 0O 3,000
0ol EXAHA 38 =& 4,000 4,000 0
201 2Et2A Y| 4,000 4,000 0
01 AP 2t 2] H| 4,000 4,000 0
OOl EXNANEA F3AE 29| 4,000
=0t Jt= £ X School =& 5,000 0 5,000
201 et d| 3,000 0 3,000
01 AR 22l ] 3,000 0 3,000
Os 0= 21X School 29 3,000
301 et A= 2,000 0 2,000
09 SHAIAHI E A2 2,000 0 2,000
Os #0tJt= £X School O A &= AH|
10,000 *40YH *53| 2,000
s NGAMNIBHE2AN 29H| K& 22,500 0 22,500
201 gBt24Ay| 22,500 0 22,500
01 AP 2t 2| bl 22,500 0 22,500
Os KNEAMIBHEAN A LY
15,000 x250H 63| 22,500
NASES otEANOl ME I 30,003,698 29,122,578 881,120
= 26,899,902
Al 2,191,925
- 911,871
MNASEES NHEXNSANY 3,994,370 3,575,147 419,223
= 3,500,307
Al 400,103
- 93,960
ANEZ2ZZ ALY 3,131,993 2,528,468 603,525
= 2,818,793
Al 219,240
3 93,960
301 et A= 3,131,993 2,528,468 603,525
= 2,818,793
Al 219,240
5 93,960
01 Ml EXEE 25612 3,131,993 2,528,468 603,525
OXEZ2Z ALY 2,784,341
= 2,505,907
Al 194,904
- 83,530
OXNEEHAZ 347,652
= 312,886
Al 24,336
- 10,430
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SN MEEED
MY HASSO OHFIQ ME N
??: HASE NEXZ ALY (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
NaXtedy X 349,747 342,940 6,807
= 244,823
Al 104,924
307 gl2tol & 349,747 342,940 6,807
2 244,823
Al 104,924
10 M3 SXNANEHIS2IHEX 349,747 342,940 6,807
OXNgGiady X 326,471
2 228,530
Al 97,941
OXNGXadyH s3I 23,276
= 16,293
Al 6,983
ANEitedy AA=X+ 17,810 17,810 0
Al 17,810
307 21201 A 17,810 17,810 0
Al 17,810
10 M2 SXNANEHE2IHEX 17,810 17,810 0
OXNgxady AA=X = 17,810
Al 17,810
CE2sEUA=+SNAE SN (LIS ETALY | 99,365 165,954 66,589
)
= 87,718
Al 11,647
307 21201 A 99,365 165,954 A 66,589
= 87,718
Al 11,647
11T M3 SXAISEEX 99,365 165,954 A 66,589
OsLINSSEAY | 99,365
= 87,718
Al 11,647
CEsEUA=+SNAESS NI (LHLIINSEEAY) 39,712 54,453 A14,741
= 35,726
Al 3,986
307 Q12+0| & 39,712 54,453 A 14,741
2 35,726
Al 3,986
11T ASI S XA E = 39,712 54,453 AN14,741
OULINSSEAMY 39,712
= 35,726
Al 3,986
D22sEUesSNAE xS NA (YIS SEAL I 234,537 372,784 N 138,247
)
= 207,680
Al 26,857
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SN MEEED
MY HASSO OHFIQ ME N
??: HASE NEXZ ALY (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 234,537 372,784 N 138,247
= 207,680
Al 26,857
11T M SXASE EX 234,537 372,784 N 138,247
OslYIISSHEAMY 1| 234,537
= 207,680
Al 26,857
2ESAYSLSNAL LS (HHSLISER) 116,931 88,543 28,388
=2 102,574
Al 14,357
307 glz2+ol & 116,931 88,543 28,388
= 102,574
Al 14,357
11T MISAASER 116,931 88,543 28,388
OFUHsLISSHAY 116,931
= 102,574
Al 14,357
2EsEUA=SHAESS NI (L NELH AL 4,275 4,195 80
2g4l)
= 2,993
Al 1,282
307 glz2tol & 4,275 4,195 80
= 2,993
Al 1,282
11T MISXASEX 4,275 4,195 80
O22520/U=+SHALLSAUA(ZLNE
HdEH fE22dl) 4,275
= 2,993
Al 1,282
2V ZMBEHLSN 26,009,328 25,547,431 461,897
2 23,399,595
Al 1,791,822
T 817,911
MH =N 25,259,333 24,863, 145 396, 188
= 22,733,400
Al 1,768,153
T 757,780
301 YerE A 25,259,333 24,863,145 396, 188
2 22,733,400
Al 1,768,153
- 757,780
01 MEI2EZE 05z 25,259,333 24,863, 145 396, 188
OMASH (L =3 X) 25,259,333
= 22,733,400
Al 1,768,153
- 757,780
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SN MERID
u: HASSO oFNo 4% K8
Sl ROIEZMBEYLSZN N (B9 ®R)
4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
mE=a= 45,196 39,047 6,149
308 XXX S0 A 45,196 39,047 6,149
08 WEJ|20istE X 45,196 39,047 6,149
ORsZ 0 (Let=3 ) 45,196
ol & E R = ¢ 210,000 165,348 44,652
= 189,000
Al 14,700
T 6,300
301 L2 A= 210,000 165,348 44,652
= 189,000
Al 14,700
T 6,300
01 M EEH G2 210,000 165,348 44,652
Odlat - ZH =0 210,000
= 189,000
Al 14,700
- 6,300
SHAE M SO (AE) 33,334 18,426 14,908
= 30,000
Al 3,334
301 L2 A Z 33,334 18,426 14,908
= 30,000
Al 3,334
01 MEIBEE 253 33,334 18,426 14,908
Odi & EH S0 (A E) 33,334
= 30,000
Al 3,334
Jl===28 A 30l 402,110 402,110 0
= 402,110
301 gt 4= 402,110 402,110 0
= 402,110
01 Ml2EZE 06z 402,110 402,110 0
OJdl===2 X ¢330 402,110
= 402,110
TARAAHE 220 56,355 56,355 0
= 45,085
Al 5,635
T 5,635
301 L2 LS 56,355 56,355 0
= 45,085
Al 5,635
T 5,635
01 MIBEZE 63 56,355 56,355 0
OX&AHE 250 56,355
= 45,085
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SN MERID
HE: HASSO OHFFO M X
S RLIIZMEIILST X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 5,635
T 5,635
SEXA2H 3,000 3,000 0
201 £B-2d| 3,000 3,000 0
02 =224l 3,000 3,000 0
OSE XA 2| 3,000
— Xt & XAl 270,000& «1CH 270
-ESFMNERE S 60,0002 23] »1CH 120
- XKl 2eltl 2,610,000 = 1CH 2,610
HE2IAZH (ME2E) 287,168 135,992 151,176
= 63,354
Al 31,677
- 192,137
el 2 142,096 0 142,096
= 63,354
Al 31,677
- 47,065
S At 22l AL el Al K& 142,096 0 142,096
= 63,354
Al 31,677
T 47,065
101 1A dl 142,096 0 142,096
= 63,354
Al 31,677
T 47,065
03 RIAHAZ2 2R 142,096 0 142,096
OS&E A Z2IAH4Y) 20 126,708
= 63,354
Al 31,677
- 31,677
OSE At ZelAH(4Y) H=< 15,388
~ € EF Oty 6.758
190l 4 2E 012 22 XH(3Y)
1,668,520& 3H 5,006
<340l A 44012 22X (1Y)
1,751, 7402 1 1,752
PN E =R =y 5,299
- 1@ 0l & 24012 22 XH(3Y)
1,286,700& »3H 3,861
- 3804 4H0I2F 22XH(1Y)
1,437,150 1 1,438
= A= 3,331
1H0la 24012 22 XH(3Y)
822,990& x3H 2,469
<340l A 44012 22X (1Y)
861,920& x1H 862
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02 0z
MM 0 migr
0 O HE
02 0%
oM K
x
0z
(U]
N
0%
&

~
==

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o e 2
Jl= &l 145,072 135,992 9,080
Jl=dl 145,072 135,992 9,080
201 Let24d] 27,992 26,792 1,200
01 At 22/l 27,992 26,792 1,200
O=AERXN 7¢ 20,000 *80 A 1,600
OEUH - 6,592
-T2l EU 176,000 =501 53] 4,400
-ZHEey 232 274,000 »2CH x4 24 2,192
ORM2Z JIEs8H| 10,000& «33H 128 3,960
OAlZtel 22X S4lH|
8,000 «54! %33 «12& 15,840
202 O4dl 110,880 104,160 6,720
01 = LH 4 Hi 110,880 104,160 6,720
O2tLH o HI 110,880
- dYH SF& OHl  280,000& 32 122 107,520
—AZEERH SRE 04l
140,000& 2 128 3,360
203 YR =] 5,400 5,040 360
04 FEANSEHE=LH 5,400 5,040 360
ORNMSIYRFLH 5,400
— 302! 0l 6t 400,000& 123 4,800
- ERN(SRH 7Y ZE)
5,000 x10¥ 12 600
405 THabF S| 800 0 800
01 AL EFH S 800 0 800
OdlolMZele (2ed) 2 (nH)
800,000 = 1CH 800
S(MEZ ) 28,380 23,464 4,916
WEHHX S 28,380 23,464 4,916
LHE Hel 28,380 23,464 4,916
701 JIEtSI HEEES 28,380 23,464 4,916
01 JIEteI HE =3 28,380 23,464 4,916
O2d==0Ils SN &2 28,380
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